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15.35       1)   

Είναι    
2x xf x αe 2x 1 β     , οπότε 

 
21 1f 1 3 αe β 1 3 α β 3            (1) 

     
20 0f 0 1 αe 2 0 1 β 1 α 1 β 1 α β 1                  (2) 

Λύνοντας το σύστημα των (1) και (2) βρίσκουμε α 1  και β 2   

15.35       2)   

Είναι   2f x 3x 2αx β     , οπότε 

  3 2f 1 2 1 α 1 β 1 4 2 1 α β 4 2 α β 5                   (1) 

     
2

f 2 7 3 2 2α 2 β 7 12 4α β 7 4α β 5                      (2)  

Λύνοντας το σύστημα των (1) και (2) βρίσκουμε α 2  και β 3   

15.35       3)   

Είναι  
α β

f x
x2 x

    , οπότε 

 f 1 2 α 1 βln1 2 α 2        

 
α 2α β α

f 1 2 2 β 2 1 β 2 β 1
1 22 1



              

15.35       4)   

Είναι   3 2f x 4αx 3βx 6x 6      και   2f x 12αx 6βx 6    , οπότε 

       
3 2

f 1 10 4α 1 3β 1 6 1 6 10                

4α 3β 6 6 10 4α 3β 10            (1) 

 

  2f 1 6 12α 1 6β 1 6 6 12α 6β 6 6 12α 6β 0 2α β 0                   (2) 

Λύνοντας το σύστημα των (1) και (2) βρίσκουμε α 1  και β 2    

 


